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SECTION 1

o oeO c)/
Qr. tl:I[Emn nKm[Jlf]fi^4fL1lf[6] n

Circle the correct onswer.

(") t.ffiftA o*qflftlnf]fl nntf]fl nfi"frftrt/'wgaorangdtan" *ffi*1,\-/ - "1, (t "t)
The Javanese root ofword of "Ngalorangitan" (Northeastern) is

A Lor

B Ngalor

C Ngdtan

D Lorwdtan 
tffinR gl

O) nftq1 Orsnpn11 ftInf]flftfii UnffX "Ngalorang6tan kcn6, mengko ketemu mejid"

"t' rJ-

Identifu a noun of the Javanese sentence "Ngalorangitan kini, mengko keternu

mejid"

A Ngalorngdtan

B Kdnd

C Mejid

D Mengko ketemu 
rnfrnR gl
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a2. nstfltnn{mm[nnu

Write your answer in given spaces.

<'3OO

(a) llJl ntmnftfi iqier, wasesa flln$l lesan Mlft6l[Jl| ftftffinT *Anakd tanggaku wis

lulus anggond sekolatr dokter" ftlilfiI||[$ll,:

Identify the subject, predicate and obiect in sentence of "Anaki tanggaku wis lulus

anggoni selrnlah doWer" (My neighbor's son/daughter has graduatedfor a tnedical

doctor) is:

(i) Wasesa :

(ii) Lesan :

(iii)Jejer :

(fmnK [nt)

ftnnfn4 f||m ...ttt1...

lrmnK 6|)

rol nftq nnlttrunp$ ..kidur,, qrnnd qnxrr1flnftfr nlnnft'ntnfffi'"-g'llfiltil .....(D....fri-
q,aq

When the root word is "kidul" (south) added with preftx "ang" infront of the word

becomes ...(r... ard the meaning is ...(ii) -.. ....

(D

(iD
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OrOo
(c) fHf tuf fU runnm qflfi ?PJl "taei opo/nsopo" nn nlflfl ftII| q06n ft6n qTn2q,

r5nnJ||fqffin2uI

The question word of "lagi opo/ngopo" is used to ask about ...

A Jejer

B Wasesa

C Lesan

D Kafangan

(d) niflflrln rffirlfi ffinq, rnffi1 Rq,ntn nirul mnqnn^4rq,ft6[rfl ...- -u- u I ua
Today is "Rebo Pahing" so yesterday and tomorrow is ...

A Kemis Pon lan Selasa Legi

B Selasa legi lan Kemis Pon

C Kemis Wagd lan Selasa Kliwon

D Selasa Kliwon lan Kemis Wag6

(") nfirffiftil,qftn rlgn$l nlgtl *moo- nrnq * BUI + L =

The result of Javanese calculation of "IIl00 - fllnq * BUI + L :

A fttl

BA
C6
D ftru

(mffi 4)

1nfin? al

1nfrnft el
4
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(c) ttl qmftflftflJlftsl'l qnm2flfl^fllffi'nn "Kakangku arep dadi mantCn tahun ngatep" nmnfll

ainrmnnq* ffiq nfinfimfigqq*rJn u

Based on the given sentence "Kakangku arep dadi mantdn tahun ngarep"(My older

brother will get married next year).

l(rite the questionfor the underlinedword.

1[nnK 6|)

O-o/Oooo
(d) rl{nftflftr mru 6aTl2 flnftflT| 6:fit1t6lfnfuz I'tl[ll']6llu\-/.---- - c ) % 11 nt I

Complete the wind direction below in Javanese language.

(i) A

(ii) B

(iii) c

(iv) D

(v) AD:

(vi) BD:

Lorw6tan

(vii) BC:

(viii)AC:

Lor

1n:nffi6|)

6
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SECTION 2

o oryQ O/
a3. fl\u n0fl rKftnn nf]61^4fl1l ft0 u

Circle the correct answer.

(a) rK rn M qfi nn^&' nn nfi- qnnz n ftnrnn{tftfi qfm2 qftnz ftlftflT[ mn qnz qfi nfr qrufz

fmfltnftf|nnjnft6f[

The most polite answer that should be said by student in thefollowing conversation

between teacher and student ts:

Murid : "Sugeng dnjang pak".

Guru i "Ya'',piy€ kabar6 kowd kabdh?

Murid:

A Kula sami sdhat bapak

B Aku s6hat pak

C S6hat

D Apik

rnfrnR sl
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(b) iul,finrupfi "sugeng dnjang" nmnnnfiqnnzoa{ttfi e3(a) tittl,* qH [nR|g1| ..

The Jwanese greeting of "sugeng dnjang" in the question Q3(a) should be said at...

A 07.00-10.00 6suk

B 10.00-14.00 awan

C 14.00-18.00 sord

D 18.00-21.00 bengi

tnfrnR sl

(c) M|,nmT *Bapakku tuku sepeda motor anyar" fU[ qftnrmfqnpfl :.

Javanese sentence "Bapakku tulw sepeda motor anyar" (My father bought a new motor

cycle) has rule:

A J-W.L.K

B J.W-K-L

c J-W-K-K

D J-W.L-L

rnfinft ol
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a4. ffTltnwnxnnf/nr

ll/rite your an^rwer in the blank.

(a) ftftftn flinfiflnmftfln "omb6". rffirui nsnrnmn mnffi rq mrtft0fnftm ruunfi nrtl,...... \\'-' -'- ai, --- -(s -'-c)' 
"t, L)' lt't 6b 1l u

Write the psstive and active voice of the Javanese original word "ombd" (drink)

G) flflm$f| (tanggap, passive) :

liil nm{E[ (tanduk, active):

rnfrnR ol

c) Mt, nfnnftsnqftrn rfifffi 0nqrulru q,ffi'nT nmrnnrr^ffqfiJl2q0JlEfl\\

"Bajuri ngombd susu sagelas saben arep turu bengi" ("Baiuri drinks a glass of milk

every night before going to bad")

Change the active sentence to passive sentence

rrufinR sl
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ogo/oo
(c) ftillmml ftnnm^l, rf|nn 0nflTfftlllQ**il ffiru m n1q0fl2 nm06n ?

What is the meaning of thefollowingJavanesefamily terms?

(i) "simbah/embah"

(iD "lembarep"

(iii) "kembar"

(iv) *ragif'

(d) mqrnftfl] nq,n$nr nffnmniryL rynlnftqrffiqffi"nfrrfinia*1ffin nmnn ftfi'

o/oo
anq52 flflfl qffinzfurl$ fif 0r z nm ftm u

Write the best sentence by using woilable words in the box below.

Aku, furu, imam, adus, subqlr" tangi, bapakkq terus, sembatryang, dibacutk6,

dadi, sing

rufrnR or

1nfrnR orl

l0
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to nsrtrnrfiry mnnrurffiqilf2 nfiffi rur qmz dd{t{n^dn flKnlu

Write the Javanese manuscript below by usingJovanese chmacters.

Adhedhasar panalitdn, godhong lidhah buaya bisa dipigunakakd minangka anti

peradangan, anti jamur, anti bakteri, lan regenerasi sel. Kejaba iku lidhatt buaya uga

duwdni kasiat ngudhrurak€ kadar gula sajrond getih wong kang nemb6 nandhang diabdtds,

ngontol tekanan getih, ngrangsang kekebalan awak ngadhepi serangan lelara kanker lan

HIV.(Dra. Lukyastirini, URl:www.astrini.wordpress.com. Ditrndhtrh : 23 l0l 12012)

rnfinR mol

-END OF QUESTION-

t2


